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(D) The Kaliash Temple af Kanchi

2. Wholstha current Chilef Justice of the

Supreme Court of Indig 7
(A]  Aftab Alam

(B} Altamus Kabir

{C} P. Sathasivam

(B} G. 5. Singhy

2. Which of the fellowing is the fastival

dance of the People of Assam 7
(A) Garba '

4. Prathibha Ray, who was pamed for

Jranpith award is a farnous

|
JDD-1TPI14 BRI R i
; SECTION - A
. I} General Awaraness
| 1. India ts a land of meny beautifuf 5. The cﬂntinaﬂj‘arghgﬂsunﬂundfngthﬁ
ancient temples. Which one 2mong Indfan coast is widast off the
the following femplas displays the most (A) Hoogly coast
oz i thfansive and sumptuous rock-cut (B) Coromandel coast
- shrines and is the most marvelious '
et architectural fraak in ndia ¥l Hankan const
E‘}_' {A) The Kalash Tempie at Eliora (B} South Guparat coast
SR (B) The Rath Tample at Rainfall on the east coast of Tami ac
; Mamaltapuram BECUrs during October to Novermbar
(C}  The Chaturbhuja-Vighny Templa due to
at Khajuraha (A} Winter monsoon

(B) Retrpating South-Wast monsoon
{C)  North-West monzoon
D) Local winds

Name the Indian who was asadciated
with the discovery of Mohanjodars.
{A} R.D, Banerfee

(B} R.D.Chatlerjee

([C} W.C. Banajes

(D) &, M. Banerjes

Humayun's Tomb was byt by

=t (8) Bhangra _
{E,'J: Bihu 4 {A}  Bu Hatima
(D} Kathak (B) . Mur Jahan

C)  Hajl Begum
(D) Akbar

Whare was 181 NLA ML Surnmil held 7

writar,

(A} Bengall \A) Irag
(B) Odia (B} Poland
(C} Hindi (C} Egypt
(D} Engfish D) Tehtan
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10.

Indlian constitetion is

{A)
{B)
()
o

Which is the fchest termple in India 7

(A}

(B)
(©)

(D)

Which Indian state has the highest
IReracy rate ?

(A)
()

Who is our current Extermal Affairs
Ministar 7

(A}
(B)
&)
D)

Bronze k& an alloy-of

{A)
(B
A&
(D)

India's space Rocket Launching
centraisin__

{A)
1B}

(&) Vishakhapatnam

(O}

Rigid

Flexile

Partly Rigid and Partly Flexible
Meither Rigid nor Flexible

Balaji Temple of Tirupathi
Shirdi Sai Baba Temple
Padmanabha Swamy of
Thinananthapuram
Jagannatha Temple of Puri

Karala
Mizoram

(B} Tarmil Nadu
{0} Lakshadweep

5. M. Krishna

A. K. Antony
Salman Kurshid
P. Chidambaram

Copper and Zine
Copper, Zinec and Tin
Copper and Tin
Mone of these

Hassan
Port Blair

Sriharikota
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The Asian Games are organized after
avary

(A) 3years =)
(C) 5years

4 years
(DY & years

. Davis Cup is assoclated with -

{(4) Football
(B} Hockay
(T} Tannis
(D} Cricket

Which Article of the Indlan constitution
gives special status o the state of
Jarmmu and Kashmir 7

(&) Aricle 3685
(B) Aricla 370
(C) Aricle 271
(O Article 356

During which Five Year Plan was the
gmergenty clamped, naw slection
ook place and the Janatha Party was
glectad ?

(&) Third

(B} Fourth

{C)  Fiith

{D) Sixth

Who among the following was a
conternporary of Gautham Buddha 7

(Al Magarjuna
(B] Kanishka
(C) Kautilya

)

(B} Mahavir
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21.

22,

24,

25.
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il} General Intelligence and Reasoning Ability

‘Kathak' is related to “Uttar Pradssh
in the same way as ‘Oddisy’ is
relatad to
{A) Assam
(C) Onssa

(B) Gujarat
{0} Maharashira

In a code CORNER is writtan as
GSVRIV, How can CENTRAL be
written in that code ?
(A) GNFJKER
(C) GIRXVEP

(B) DFOUSBM
{D} GJRYVEP

Which of the following is equivalent
of Canada, Chils and Germany ?
(A) Oftava {8) Parig
() Chicago {D} Singapore

Ifin & glven number 5884327614 wa
interchanga the first and the sscond
digits, the third and the fourth, the fifth
and the sixth and so on, then counting
from he right end, which digit will be
sixth 7
(A} 3
G 4

(B) 2
o) &

If yellow is ealled blua, biue is callad
white, white is called green, green Is
callad brown, and brown is called red.
what is the colour of milk 7

(A) White
(B} Blue
(C) Gresn
(O} Red
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Directlans {26 — 27) : In sach guestion
below are given two statements followsd
by four concluslons 1, 11, 11} and V. You have
ta take the two given statements to be trug
evan if they seem to be at vardance fom
commoniy known facts. Read all the
conclusions and then decids which of the
conclusions logically folfows from the two
given statements, disregarding commonhy
krvown facts,

24, Statements : Same parots are
monkeys. SBome jackals are parrots.

Conclusions: |) Some parrots are
jackals,
Il} Some jackals are
parois,
I} =Zome fackals are
menkeys.
V] Some monkeys
are pamrots,
(A}
(B)
(C)
{0)
27, Statements : No frult is tree, Al

Irs8s ara stones.
Conclusions

All Reflow

Cnly | and I follow
Onky Il and 1Y follow
Cnly | and Il follow

[l Ma stone is fruil,
I} Mo tres is frui.
l} Some stones are
trees.
IV} Some stenes ara
fruita,
Orly 1l ar 1 fallows
Qnly | or Il follows
Cinby 1 follows
None of thesa

(A

{B)
i)
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28 How many numbers dmongst tha 234, in & cartain code, a number 13479 iz
g
Umbers 7 1o 47 are thera which ara written as AQFJL ang 2268 is writtan
‘ exactly divisiole by 9 but ot by 3y a8 DMPN, How is 388824 written in
' “;' : {Ay QLPMNMJ {B} CQLPMNF
e ) 2 D) 3 C) QLPNDF D) QLpnmE ;
}. y 2% Five boys are so standing that they 35. Magazing is related to Editor i the
; , “ _ form a circle facing the centre, Ajay is vama way as Movis is related (o
E E betwean Ramesh and Dominic. (A} Director (B} Producer
A Solomon is do the left of Baby, Ramash (C) Actor (D) Photographer
' s 1o the left of Solamon. wh is o the
T i e Directions (36 - 38) : A cube Is coloured
; g d on all faces. It is cut ints 84 smaller cubes
| (Al Babu (B) Ramesh | o équal size. Now answer the questions
(C} Dominie {IY  Boloman | given balow,
| Directions (30 - 31): Four of he foflowing | 36 How e ol CUDeS have twa black
i &re &iike in a certain way and so form g OPposite faces 7
- greup. Which is tha one that does not (A} © 8 8
% belang to the group 7 €y 18 (L) 24
. 0 (A} Pani (B) Shir 47. ;Eywrgingcuhes arg not codourad on
1: (S} Uniform {0y Tie f.ﬂllj i B B
| 81. (A} Laciomoter {B) Voltmetsr (Ch 18 (B} 24
¢ G} Thermometer (0) Diameter 38. Mow many cubes are coinyreq on
| . O, three faces 7
! 32, If +' means , = meang Lt A (&) 4 E) 8
"1 means -, and '+ means ', than ) 15 D) 24
il P34 8B-421244=7 % H _ e s
B o OIOW many imes does the gt 2 oocur
11 (Al 12 8 17 I wrlting 2001 to 2030 7
: Lo Dy 17 (A} 13 (8 23
t) 33 Sudha is taller than Pushpa but (C) 33 D) 43
SED”E” than tﬂ_glathr, ir_a_retﬁa 8 40. In a certain code language 1, 2, 3'
: ‘all a2 Pushpa. Who should ba i ‘tall big boy' and 'a 3 7 igang
4 the middia if they stinq:l ina row beautiful litle flower'. Which numeral
£ According to neight ? in that language maans ‘bright” 7
% {A) Sudha B) Pushpa (A} 2 (B) 4
(C}  Malathi {0 Geetha (C) 5 {0 g
A
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41,

LT T TTT

ill) Arithmatical and Numerical Abflity

40% of 180 + 20% of 160 =" % of 340
(4] 170 &) 60
(C) an (D) 20

98xBE-2x2
A8 =2 '

(A) 98

B 1060

€ 102

D) 80

When the price of TV sat was
increased by 30%, the number of TV
sots sold decreassd by 20%. What
was the effect on the sales 7

(A) 8% decreass
(B} 8% incroase
{C) 4% decrease
{0 4% increass

16 workers by working 6 hours per
day take 26 days to completa a Job,
13 warkers by working 8 hours per
day take how many days to complete
the sarme job 7

(Ay 24 days

{8} 20days

(G} 28 days

{0) 25days

Jagmaohan, Rupalal and Pandeji hire a
vider sel for a week for T 350, If they
used it for a total of 8 hours,

10 hours and 12 hours respectively, how
much of the rental should Pandaeji pay 7

{A) 75
(B) 150
{C) % 125
(D} 7 100

Latest Sarkari Jobs, Govt Exam Results,
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Each passengar in a transport bus
cantributed as many rupess as the
number of passengers in the bus
tawards accident relisf fund. The

conducior contributed Rs. 49 to make

the total collection of T 625, How many
passengers weara there in the bus 7
(Ap 7 (B} 20

(C) 24 {y 25

The interast on a certain deposit at
2% per annum is T 405 in one year,
How much will the additional intarest
in one year ba on the same deposit
at 10% pear annum 3

(A} T 4050 {B) ¥ 450
(C) ¥ 855 (D) 245

Afan was sold at 2% ios=s. Ifthe same
was soid for T 70 more, there would
have been 5% profiL Whal was iis
cost price ?

{A) T 580 (B) T 1,000
() ¥ 700 (0} T a00
By haw much s two thirds of 48 lesser
than thrae fourths of 96 7

{A) 50 (B} 40

(C) 80 {0 48

Kamala got mamed slx years ago and

her presant age is 1% titres har age
atthe time of her manfaga. Age of her
50N is 10% of her present age. What
15 her son's age 7
(A} 3 years
(G} 2years

B} 4vyears
(D} 5vyears

How many diagonals can be drawn
in & decagon 7

(A) 55
(C) 35

{B) 45
(D} 25
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S2. A person travels from P to O at a 56. Three circles with radli 3 cm, 4 cm and

spead of 20 kmvhour and returns from
G to P at a speed of 30 kevhowr. Find
the average spesd of his total JoLrrneny,
(A 25 km/hour
B} 24 knmvhour
(€] 28 krmvhiour
(DY 23 kmfhour

P:Q=5:8R:Q=3;2fndP:R

{A) &5:4 B} 5:8
G} 5:8 i} 5:8
The base and the height of a

cylindrical vessel and a conical
vessal ara the same. How many times
full of liguid i= fo be poured from the
conical vessze| to completaly fill the
eylindrical veszel with liguid 7

#) 4 | ol

) 3 o 24

A company declares 10% dividend,
Its ¥ 100 share is =old at a premium
of ¥ 24, Brokerage fs 1%. If a persan
imvasts T 25,000 in thig share, how
much annual dividend does he gat 7
(A} T 2000

{8 T 200

{C) 72400

(0} * 2500

57.

58

=8,

B0,
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3 cm touch each ather sxternally. If
their centres are P, Q and R, what |3

the perimater of the tangle PQR ?
(A} 12cm {B) 18cm
{C} 24cm {0} 36cm

The ratio of the velumss of two
spheras is B : 125, What the ratio of
their dismetar 7

(A} 4:625
{C) 5:4

(B} 2:31.3
0} 2:5

The average age of 10 students in a
class increases by 4.8 months when
& boy of age & years is replaced by a
new boy. What is the age of the new
boy 7

{A) B yoars

{C} 11 years

(B) 10 years
(D) Bvears

235:@ Find the number which

replacas the sign '
(A} 70 (B) &0
{C1 75 (D} B5

Simple interest and sompound
interest for a certain sum of money s
T 800 and T 648 respoctivaly for two
years. What is the rate of interast 7

(A} 10%
B) 9%
(C) 16%
(0} 9.5%
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v} Test of Language : Hindi
ITHT wET ; T
B1. TTOTEr S = B4. T BTt % A
() g N, & .
(B) =i ) A
(C =m g
| (D) w=ET
(D) i '
85. ‘See & T = aved
62, WA S T AT ) R
wfen (B) T FTm
i i e (C) =amafem
") :
(B) o ST ik
. B68. e T ¥ g Bm wg
_ (A) &
68. ¢ Gw & vz T yooww i g
(I :ﬂﬁzﬁﬁ
PR, 6, 5T __ =¥
: ) vt s ;
3;." ;“ﬁf {E} qh:
2 ) (© Wniwaw (C) w=F
| (D) et D) e
A 18-
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63 ToH¥ymTm WEaw & ___ 72, Tt it § e oef
(A) T e ———
(B) _ T (&) Erae
©) TEwH © "Ew'
g
(D) T (&=
(D) =
69. W= qTvEaT %1 "l 2
_ 73. Tiefertean wfwt § sraam i 2
(A) T
(B) Fi (A) HEW
(C) e (B) TerdTeE
(D) wERh (C) THmEm
Dy TEElenrE
70. EE 91 ) uraTE w1979 i
(A) e 74, FAYEIEN__ nfadgen |
(B) ) (A) Tl
(©) R () SR
(0) <= (C) e
(D) Fiee
71. sHAmdisRaafdisaRsiam .
: 75. fergrd &t oeft
Ay TRl o
(A} T
(B) WHEIEN T
_ (B) FHERE
(C) ey misd
(C) 5
(D) T el O e
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Rl (76~ 80) . Rrsfisfiog o
: T X
TR e e 76, Wed Bl el o i 7
- TR T, e s (A} T
aﬂﬂﬂ'ﬁmﬂﬁ'ﬁﬁraﬁﬁﬂaﬁaﬂrﬁ
fem-foeett druma et 8 | iy 2 " (B) Tewwt
AT AT | =&t b & sano e 2
G} Hemgmmr
R i T T B T i (D) TR
3wt o , et i
*ﬁ#mmﬁwﬁwqﬁgﬁng
I | 78 B faeme
%ﬂﬁqﬁmmﬁﬁmﬁﬁaﬁ%w RIELE: s
Fidt g | (A ‘ﬁsﬁ%ﬁﬂl
76. Wﬁ“———-—-ﬂmﬁaﬁm%, (B) wsaft
(A} (C) 2
B) Wied D) e shcared
(C) lEqd
0 Twa D 80. - ] ettt 1 g e
B e R 7
77. T g R e 7
i (&) (A) it
5 = ® % 8)
g () sem ©) T
Sl O) 3P
A
A
18-
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v} Testof Language : English
sy e - Rl

Directlona (81 — 84) : Carelully read the
passage given below and answer the
guestions given below the passage :

Rainfed areas consist of 70 parcant of the
cultivated land in India and around 84
percent of the cultivatad area in the world.
Such areas have been known for their low
praductivity, but things are looking up with
the Introduetlon of improved technology. It
ia now possible to double farm production
in the rainfed areas f adequate care s
bestowed on soil and water conservation,
water harvesting, adoptlon of appropriate
cropping sequences and practices and
training of extenslon workers and farmers,
giving them all insttutional support such as

inputs, loans and marketing facilities,

Rainfad araas, whers faming is undertakan,
include ard and seml arld lands and wet
lands. Araas with rainfall upto 500 mm,
where llvestock can be raised, grasses and
foddar trees can be grown and dry land
horticulture can be praclised are also called
rainfed areas, Most of the rainfad arsas are
inhabited by very poor farmers and
marginal labourers, who need training in
sail and water consarvatkon, harvesting of

run-off watar, atc.

A

A5

Ta make farming remuJneratne and
commercially viable for them, diversiication
in farming has to be promoted. Fammers nesd
support from the government in the inftlal
stages with, sy aloan, on along-tam basls,
to create or develop assets. Co-oparative
societies must be promoted and strangthenerd
for giving the farmers inputs and halping
them market their produce.

Fill in the blank choosing the right
atlernative

81. Farm praduction In the rainfed areas
can he doubied if

{A) cara |2 not taken on soil
congenvation

(B! carelsconferred on water
consarvation

(C) waler harvasting is not taken
care of

(D] extension workers are not tralned

properly

82. Rainfed areas include
(A areas with rainfall upte 5C cm

{B) areas where grasses cannot be

grown

{C1 areas where dryland horficuliure

cannot be practised

{D} areas in which very poor farmears

do not raside

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click
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B3. Marginallabourers residing in rainfed
areas do not requira training In
(A) run-offwater harvesting
{B} preservation of soll from loss

~ {C) praservation of water from waste
(D) raising livestock only for flash

84 Govemment need to support farmers
with
(A) shor term loans
{B} long term loans
{C) loans to destroy assets

(D) deposits in co-operative accisties

Directions {85 — B%) : In each of tha
following sentences a biank has boan
given. From amongst the four altematives
given under it, you have to find the one
which beat fits into the blank. That is your
HNSWaAT,

BS. Will you
lam on tour ?
(A)  look on
B} look after
(G look up
D) look out

rry dog while

85. | object waiting, You
are always late for appointments,
(A) tokeep
(B} to keaeping
(C) tobeing kept
(D) to

Latest Sarkari Jobs, Govt Exam Results,
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B7. 1 did | gould which was

not much.

(&) what

(B) which

(G} that

{Iy how much

88. | have livad in Dalhi _
(A) tor five years
(B} since five yoars
(G} five vears ago
{0 forfive years ago

B5. Mo sconer did he go in
he came out,
(A} and
(BY then
(Cy than
(D} when

Directlons (90 — 93) : Find out whether
thers is any grammatical error. The arrar If
any will be in one of tha parts (A), (B) or {C)
as marked in the sentence. If there is no
SITOr, your answer |s (D},

90, Myself and Gopaian (A) / will take care
of (B) / the function on Sunday (C) /
Mo error (D)

91. May!{A)/f kr;uw who you want (B) / to
seq please .f{.‘:}f Mo errar ()
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92 Agroup of fiends (A) / wanttavisit (B) /
the new plant as early as posshie (C)/
Mo error (D)

83. On a holiday {A) / Sudha prafers
reading {E) / than going out visiting
friends [C} / No error (D)

Directions {94 - 65} : Of the four
altemnatives given in sach question, find the
one which is most opposite In meaning to
the ward glven in capitals.

24, CONCEDE
() object
(B} acreds
(C) grant
D) refuse

85. MALIGN
(A) praise
(B) purify
(G} disparage
{D} rapress

Directions (96 - 97) : Choasa the word ar
phrase which |s most nearly the same In
meaning to the key word.

98 Trivial
{A) momentous
(B} frivolous
{C) important
(D) truss

JDD-1/TPX-14

897. Magnanimous
(Al luxurious
(B) generous
{G)  low-minded
{0} vindictiveness

Directions (98 - 100) : Select the most
appropnate word from the four words given
below the sentence to fill in the blank in it
and complete Its meaning,

98. When | called ,_f' _his residenca
this-morming, he was siill In bed.
fA} in
fB] on
{C) at
{D} for

893 The poet died in tha _ af his
fife,
(Al psak
(B] .end
{C} .youth
(L) prima

100, The diractor
his misbahaviour.

(A) took
(B) ket
(C] made
D forcad

him o task for

Latest Sarkari Jobs, Govt Exam Results,
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101,

102,

103,

104.

108.

SECTION -8

1

Post Spacific Subject-Related Questlons

Dominant method’s far measurlng
brain activities are

(4] ERPs
iC) MEG

By MR
{0y All of the abova

What is the meaning of MR 7

(A} Track changes in blood flow In the
brain

(B} Track magnetic field changes in
the brain aver the timea

{CG} BethAand B

{0} Mone of the above

Learning in infancy prior to Meural
Commitment

{A} Nauroplasticity

{B} Leaming in adufthood
(C} infant learning

(DY MNone of the above

Scribner and Cole ldentifled

digtingtive features of informal

lsamning, those are

i} Infommalleaming is person-crisntesd,

iy Informal  learning  {ostars
traditicnalism.

iy Informal learning involves fusing
emational and intallectual domains,

(A) 1andll (B} I, i and i

(G 0 and i (B} Only i

In Juby 1588, the: Education Commission
of the States and the Dana Foundalion
held a conference entitled *Bridging the
gap betwsen and education,”
convening leaders fram tha twa fields.
(Al neurostience :

(B) interdisciplinary sglence

(G disciplinary sciance

(D7 none of the abovk

106,

107,

104,

108.

Latest Sarkari Jobs, Govt Exam Results,
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ivee_ . maming, which results in
sludents’ actuisition of spontansoyus
concepts, and ___ leaming, wihich
results in their acquisition of scientific
concepts.

(A} Theoraetical, Empirical

B} Practical, Theoretical

()} Empirical, Theorstical

(O}  MNone of the above

The rale of the human mediator 5

definad in Vygotsky's (1878) theory

through notion that

{A} Each psychological funclion
appears twice in davelopment,
once in the form of actual
interaction betwsen peopla and
the second time as an inner
internalized form of this function

(B} Transition of the function from the
interperscnal to the intrapersonal
plane rather than the property of
maditation

{C) Effective spontaneous meditation
ameng teachers

(& Al of the abowve

Which of the following strategies are
proposad by Collins to develep
learners’ cognitive skills 7

(&), Modelling, Coaching, Scaffolding
(B). Maodelling, Scaffolding, Articulation
(C) Articulation, rellection, exploration
(D) Both Aand G

Cur mermory of peracnal experienceas
% called

(A) Procedural memony

(B) Samantic memoary

(Z)  Longtermmemony

(D)  Episodic memory
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110. is the ability to recall how to do

111,

112

113,

something, especially a physical task,
(A)  Episodic memory

(B} Procedural memory

{C} Semantic memory

D) All of the above

Who believes that Itis never toa aarly
or too late to offer a helping hand -
and to give the mogt disadvantaged
youngsters the chance of & better
childhood and a brighter future 2

(A} John Donaldson (B) Bamado
(C} James (B} Prout

James and Prout propose that the
——____izabiclogical fact of life, but
the ways in which it Is understood and
made meaningful is a fact of
(A} Childhood development,

Socialization
{8 Sodal construction, Soclalization
(C}  Immaturity of Childhood, Cutture
(0¥ Chikdhood development, Cullurs

Key featuras of the paradigm, as
outlined by James and Prout are
i} Children is understood ag & sosial

construchion;
i) Chidhood Is a variable of sacial
analysis.
i} Childhood developed the S0Ciaty's
culture.
¥} Children should be seen as active
20Cial agent.
{Ay i W, di (B il iv
{C} L, b (D) Allofthe above

According to the Pringle, basic needs
of children are

{A) The need for love and Securily
(B} MNew experonces and responsibility
{C) Praise and recogntion

{D) Al of the above

T1F.

118,

Latest Sarkari Jobs, Govt Exam Re§ults,
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115, Bpecific dutiss of SCCs are provided in

115,

VR LA

{A} The Education Act 1895
(sectian 149.5)

(B} The Education Hequlations,
19886 {zection 3,82)

(C) Both AandB

(D} MNone of the abave

Act and regulations require SCCs ta
I Facllitate parant and Community
participation in schoo learming

i) Devalop & good understanding of
 Wheir community :
it} Comply with The Education Act,
1585, The Education Regulation,

1886 and the policies of Its board

of education :

v} Comply with The Educatfon
Regulations, 1986 (section 3.82)

v) Development of schoo! staff
(A} i, liand iif B} 1, iiandiv
(C) Liiand v (D) ANl ofthe above

In general Board of Education ig

responsible to

{A} Establizshing a SCC in avery
school in its division

{B) Provide orientation, training,

~ development and natworking
oppartunities for alf SCC

(C) Facilitate parent and COmmurity
participation In schoa! leaming

(D) Both AandB

Which are the following main slemenis
prewide the framewark for socialization 2
A} Human biolegical potential,

culture and indlvid ual exparisnces
(Bl Human nature, culturs apg

bebaviour :
{C} Secial awarenass, culture and
behaviour
{0} Humanp nature, Human biologleal
potential and culture 3
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114,

120.

122,

123,

124,

Creche, Home for stresl children,
sponsonng Education, Distribution of
Educational Material 1o poor students,
sponsor Education — school and
tuition fees and Orphanage are the
difierent programs that are running by
(Al CW (By DCCW

{C] Seuds (0} Maneof tha above

The formation of specific fnendships begins
io be obsenved during which period 7

(Al 16 o 28 months

(8] 18 36 months

{C) 1410 25 months

{3 810 15 months

Wheo had observed that the art of
education would never attain cleamess
in teelf without philesapby 7
tA) MK Gandhi (B) Fichte
{C) John Dewey (D) Gautam Buddha

How do we get knowledge and how
canwe be sura it is frus and not ermor 7
This arsa of philoscphy is called

(A} MNeurology

(B) Epistemology

{C} Bayond Philosophy
{2}  MNone of the above

In today's society school should give
(A} Omamental base

B} Vocational base

(G} Both Aand B

(0} MNoneg of the above

What are the attributes of an effective
learner 7

(A} Self directed

iB) Cunous and open mindad

(C) Self aware

(0} All of the above

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

125.

126.

127.
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The 1968 national policy teacher

gducation adopted oy the Indian ™,

Government laid stress on the

followlng aspects of teachar's

elucation

(A} Adeguatea emoluments and
academic freedom for teachers

(B} Travel allowance and family
pensions far teachers

(G} In-zervice training and
correspondenca education for
leachers

{D} Premotion and retirement facilities
for teachers

If we believe in the dualistlc thaory of

the mind versus body nature of man,

have to arrive at the consaguence that

(A} Educatian iz mechanization in
process and theorstical in
development

(B} Learning i purgly a matter of
material changes in the behaviour
of man

(C) Learning an education should cater
to obzervable behaviour of man

(D} Education is purely a matier of

© mental training and development
of the =eif

Article 45 undar the Diractive

Principles of State Policy in the Indian

Constitution, provides for

{A) Rights of minarities to establish
educational instiiutions

(B) Free and compulsory primary
adyucatian

{C) Education for waaker seclions of
the country

(D7 Giving financial assistance to less
advanced states
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128. The National Educaticnal Policy of

128,

130.

1979, recommended also about the
public schools

(A} their unigueness and traditions
have to preserved the intarests of
the best talants of the country
they should be brought under laws
and regulations of the govemment
public education system

they must be allowed the
autonomy that was bestowed on
them by the past system of
education

sUltabla ratio has to ba maintained
for admission of middle class and
poor student alsa

(B)

1€

D)

The concept of totalitarlan education

in the West was in favour of

(A} Treating education as a binding
factor o international
undersianding

The educatian of the individual for
developmant of his total personality
PMaking the education of the
individual as an instrument far
realising the ends of the state
Making the state responsible to
evolva aducalion as a means of

salisfying individual's needs and
intergsis

Ragarding co-education at the
secondary stage, the 1952.53
Education Commission has
suggested that

{A) Tost@ar, resource, in sevaral statas
could not afford

There should be cbjection to
axtend co-seducational schoo!

To maintain separate schools for
boys and givls

The situation in our country
warrants establizhment of mora
boys schools than cosducational
school

{E)
(8

(D)

{E)
(G
{e)

131,

132.

133,

134,

24
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Intellectual aim in educatlon was
amphagtsed in
{A) India

(C) Sparta

{B] Greek
(D) Athanian

What |s the most comman appraach
ic the esiimation of school
effectiveness for initial between-
schooi differencas 7

(A) Matrcas

(B) Between-Grade aporoach
(C) Statistical Control

(D) None of the above

The between-grade design is
preferable from a methodologlcal
point of view because
(&) Batween-grade differances |
amount of schoellng are no
related to differances in otha
achievement related varlable
Effectiveness estimates yielded b
statistical contro! approach egue
to zero
SC approach makes use of th
SOcip-aconomic characteristhes o
the school population in ordar
astimate expectad achisvernant
The characteristics of the studa
body remain consiant; they do no
affect the achlevement gain of the
cohorts

(B)

Ryan, a five-year-old child, iz able to
idantify tha lattar “r." Ha is also very
familiar with the letters *y,” *a," and *n "
Thig phenomeanon is referred 1o as the -

(A) Alphabet knowledge procossor
(B Own-name advantage

{C)  Fhonologkcal awarensss indicat
(D)  Emargent Iteracy hypethasis
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135. A child is abls o sagment the ward
"CAT" imta its constituent phonames,
A+ A + T/, He is demonstrating a
deep level of

(A) Phenological awarensss

(B} Print function

(2 Deletion

(D) Mone of the above

o |ldentify

o plan instruction for the school year.

(A} The Preschool Language Scaka-—

Fourth Edition (PLS—4)

(B} Edition (CELF—Preschocl=2)
Test of Early Beading Ability—

: Third Edition (TERA-3)
| (L
Screaning—Prel (PALS-Prek)

|
{8}

137. Children learn appropriate sounds
i, and words in reaction to their parents’
reinforcament Is suggested oy which
! theory of language development 7

i (A} Behavicurist (B Innatist
' (2} Cognitive

Children ara born with a language
acquisition device
. {A] Skinner
3 (B) Piaget
E {C) Vygotsky
/ - {0) Moneofthe above

' | 138.

R

Jscreening instrument which
can use by earty childhood educators
the strengths and
waaknesses of childran in earky literacy

Fhanological Awarenass Literacy

Clinical Evaluation of Language
Fundamentals Preschool—Sacand

(DY Contexiual

138.

1440,

141,

142,

143

=+
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Childran's first words most commerily
rafar to which of the lollowing ?

{A) abstractideas

{B) concrete chjects

(C) time

(D) all of the above

_IsNOT play a significant rale
in the child's learning of language.
(A} learning rules for sound
combinations
(B) learning rules for interaction
patterns
() imitation of adulf spaech

(Y learning rules for sentance
struclure

Metalinguistic awarengss

(&) ability to think

(B) the ability to think and falk about
language

(C)  ability to talk about language

(D) ability to writing from other visual
rnarks

Vhat Is invented speliing 7

(&) intarferas with reading

~ development

g} the development of conventional
speling

{C) increases children’s fluency
(D) should notbe supported by parems

High-contaxt cutturas

(&) People make a big deal out of
private space

(B} Lawyers are less mportant

(&) Competitive bidding is less
mpeortant

(DM Al of the above
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affective autonomy, hierarchy, reflext the norms of the society for

mastery, egalltarian commitment and which they have been developed 7
* harmmony values ara devesloped by (A} Hansan (B) Peterson
(A} Schwartz {C) Hollins (D)  Fraiberg
{B) Robert 148, Which of the following assumptions
(C} Broune ) are identified by Finnan ?
(D) Noneofthe above -~ . I} Assumption akoul leadership and
decision making.
145. Elements of cullure are : i) Assumptions about adult roles and
i Law . responsibilitias,
i An ) - Assumption about best practices
and structures for educating
iiif) Language : studants.
v} Tradition lv} Assumption about the valua of
(A} 1, i and jii changs.
(B) i, il and iv {AY i, I and jii
(C) i, iv and | (B) 1, i, iii and kv
(©) il li and iy Q) Ti, il and v
(DY Onlyi

146. Which one of the following is best
defined a country’s cultural | 148, In the assumption "Adult hold for
Ak sludents™ what the Finnan want to

’ axplain 7

(A) Living standard and omic
) g g (A) It concemed with the expectations

development of adult for students
(B} Heroes, myths, values, attitudes {B} It concerned with the adult's
e and symbols democratic involvement and

_ {C) HNationalism and community sharad decisian making
i membsrship {C) It concerned that adults have
| Ty strength and dssire to take the
(D) Afl of the above responsibiflty
(D] None of the above
A 32

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



+

JOD-UTP/X-14

150.  The following assumptions of teachars

151.

regarding classroom constitutiona)
issUss are identifiad by whom ?
1) Itconcerned with the axpectations
of adult for studants,

2] Children cannot participata
constructively in the develapment
of a classroom constitution.

3} Children wartand expect the teachar
fo determine the nilas of the Garme,

4) Children are not nterested In
constitutional issues,

5)  Chiidran should be govemned by whist
ateacherthinks is right or wrong, but
ateacher should not be govemed by
what childran thirk is right OF Wrong.

6] The athics of adults ara obviously
different from and superior to the

ethics of childran.
(A] Hanson {8) Peterson
(C) Holiins {0} Sarason

Which of the following norms of school

cultura facilitated change involved

teacher knowiedge and quallties 7

(4]  High expactation. expaimentation,
coflegiality, appreciation,
involvement in decigion making
and caring

(B} Experimentation, tangible support,
referring to a knowledge basa,
collegiality, high expectation and
trust and confidance

(C)  Appreciation, protection of what's
important, high expectations,
decision making, caring and
humour and trust and confidence

(D} Appreciation, protection of what
are impontant, high expectations,
experimantation, fangible support,
referming to a knowledge base

-
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152. Hargreaves sums ug the literatura on

133.

{A) the

(B} the changs is too broad and

fC) thea change is too fast for people to

{0} all of the abave

merality and hateronomous morahity
[A)  Autonomous moral thinkers focys

{B)  Autoncmious moral thinkers fooys
(G} Autonomaus moral thinkers focus

D} Autonomous mora! thinkars fory

-
tfailed reforms. He remarks ::}r’
educational shange falters or idils
because e

change 15 Foothy
conceplualized or not clearly
demonstrated. I is chvious who
will benefit and how. What the
changa will achiave for students is
not spellad out

ambitious so that teachers have io
WOrk on too many fronts, or it |3 too
limAted and specific so that litthe raal
change occurs at all

cope with, or ioo slow so that they
become impatient or bersd and
Move on to something else

Distingtion betwaen autonomous

onthe rewards moral hehavior will
Bring

on the way a specific behaviar
makes them fasl

on the intentions of somesns whe
breaks a ruis

on the conssquences of behavio
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154.

185,

1586.

Piaget

A) The social understanding of

*  autonomous children comes about
through biclogical maturation

(B} The social undarstanding of

autonomous children comes about

through the mutual give-and-take

of peer relations

The social understanding of

autonamous childran comes about

through parental modeliing

The social understanding of

sutonomous children comeas about

through what they leam in thalt

educational sattings

(C}

()

Universal ethical principles means

(A} Tha greatest degree of
Internalization of moral standards
is to be found in a stage of moral
devalopment

{8) The greatest degree of

internalization of conventional

gtandards is to be found in a stage

of moral development

The greatest degree of

internalization of post conventional

standards is to be found |n a stage

of moral devslopmeant

The greatest degree of

internalization of reasoning

standards is to be found in a stage

of moral development

Moral devalopment In diverse

cultures ansund the world (Kohiberg's

thaory) has revaaled

{A) Mo unlvarsal support forihis theory

(B) Conflicting results in 1erms of the
theary’s universality

(C) Support for the universality of tha

fivst four stages

(D) MNone of these

157.

158.

165,

180.

161,

-~
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A key concept in understanding moral
development is internalization

(A} Kohlbarg

{B) Sipmund Freud

(G} Martin Hoffman

(D3 Nona of the above

By parents promote
nigher levels of moral reasoning in
their children.

{A)  telling their children how to act
{B) encouraging conversation about
value-laden issues

talking about best things

gll of the above

(<)
(o

Criticism of Kohlberg's theory

(A) It places too much amphasis on
moral thought and tog little
emphasis on moral bahaviour
Kohlbarg's storles are extrernaly -
difficult to score

It did rot fully considar cudure of
gander variables

All of the above

\B}
{C}

(D)

Who criticised the Kohlberg's theory
neglecting the importance of
interpersonal relationship in mosal
developmant 7

(&) Sigmund Freud
{B) Martin Hoffman
{C} Femed

() Carol Gilligan

Social raasoning focusas on thoughts
about social consensus, MOral
rsasoning emphasize on

(&) Sociely

(B} Ethical issues

(C) Morality

(D) Social cognitive
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wWhich of the following theory
distinguishes between moral
competence and moral performance 7
(A} Social cognitive

{B} * Morality

(C) Psychosociai

(D) Mone of the above

Albert Bandura

{8} The key lo pasitive moral
devaelopment is the fear of
punishment

The koy to positive moral
developmant is good instruction
The key !o positive maoral
development 15 self regulation
The key to positivea moral
development is abstract reasoning

(B}
(C)
{0

Altruism

(A) Forgive someong

(B) He'lping someone without self
interegt

(C) Releazes the persan

bahavioural retalation

Mona of the above

from

L)

Pra-arming is

(A) A strategy parents use to help thelr
adolescents deal with values
outside tha home that confllet with
parental values. This strategy
involves anticipating conflicting
values and preparing the
adolescent to deal with them

A strategy parents use to promacie
maral development In thsir
adolescents through reason and
axplanation of consequences for
cihars based on the adolescent's
actions

Teaching students a basic maral
literacy o prevent them from
engaging in immoral behavior and
doing harm to themselves

Mone of the above

{8

{C)

(D)
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| T AN R
Why Gilligan has critlclzed
Kehlberg's theory aof meral

development 7

(A} Because it does notinclude a role
for reasoning about relationships
and cancern for gthera

Because it does not recognize
higher-level moral reasoning in
cartain cultural groups

Because it places too much
ammphasis on moral thought and
not encugh emphasis on moral
behaviour

(D} All of the above

(B}

(C}

Gestura iz definad as

(A} Motion of the body, head arlimbs,
agpecially a movament or action
of the hand or face

Motion of the body especially a
movement or action of the hand or
face

otion of the body, head or limbs
Motion of the body, head
especially.a movement or action
of the hand or face

(B}

{Ch
(0}

Language ls found among all human
groups-even those possessing the
simpiest culture trait

(4) Language davelopment
(B} The language of primitive psople
(O} Mon vocal Gesturg in human
communication
{D) None of the above
| Know More
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168,

170

171,

The development of human speech

falls into several natural stages

dependent on physical maturlty and

personal — social stimulation. Thesa

stages are

(A} The screaming o Pre-linguistic
stage

(B)  Jabble stage and imitation of speach

{C] Acquirement of irue spaech by
association of sound and situation

D) Al of the above

Tre gevemance and the one force of

majesty and imelligenca obaying the

call of pity, hunger, pain, cold, dark =

MAMA, MAMA, MARMA, MAMA s the

sxample of

(A) The screaming or Pre-lin guistic
stage

(B} Babble stage

(Cy Acquirement of true speach by
assoociation of sound and sltuation

(D} Imitation of speech

By a Mttle over nine monihs the babble
had changed in character, It is softar,
lesg distinct, and more fike spaach. She
had developed a form of mimicry that
often passes for spesch. It ks called
{Ay Echolakia

(B8) Condiiioned response

{C) |Imitation stage of apeech

(DY Parrot slage

172. Sehvesingar

173.

174.

175.

-A0-

(A) Lika similar studies; teveals a -

growing interest in statistical

~analyses of moral knowisdge and
moral c:mdwf:t :

(B} The development of vocabulary
significant as & measura of social
participation .

(C} Speech remains a reveater of
peragnality

(DY The basic or most fundamental
spasch |evel ia the voice

A hybrid model of lafguage

devalopment called
(A} ECM {B) ECT
[C) SPP () ART

Two possibilities were introduced by -
the social Interactionists in the form
of imitation and corraction calied

(A) Negative evidence

:{B) Poasitive avidence
{C) Constant evidence

(DY None of the above

ECM smbeds both the pragmatic and
cognitive perspeciives In &

sdevelopmental theory of

" {A) Soclal acquisition -

{B) Language acquistion - o

{C) Diversity
(D} Ethics

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click m
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176.  Standards of effective Pedagogy am 181. An opportunity to mest othar
i .i_} dJeint Productive Activity. managers at régular intervals, share

Contextuallzation.

solutions, build a common
iy Challenging activities and "

Instructional Conversation, understanding of processes, and lo
(& i liand i {B) i and ii support each other
{C) Onlyi (D) Al of the abova (A} Self leaming programmes
(B) Leamning cycie
(C} Mentoring  and  coaching
relationship
(D) Peer to pear iaaming

e 177, Instructional Convarsation means
o (A} Developing language across
: curmcuium
-+ (B} Taaching through conversation
8 (C} Teaching complex thinking
| (D} Connecting school o students' | 182. Managers from within and outside

livas your health centre with a common
interest in enderstandi and
178, What are the attributes of a good Fibtaina i I;js't . M
: feadar ? S e :
- I| (A} Have a sense of mission (A} Reflection session
i (B) Charsmatic (B) Matwork
4l {C} Able to influence people to work (C} Leaming group
: t tagether for common cause (LN Mone of the above
; (D) All of the above
It
: 178, isgefling things dona through 183. SBecondments, attachmants,
balanced involvemant of pacpla, shadowing/observation and study
' (A} Leadership tours provide
(B) Management A} Expiore options when managers

(C} BothAandB
{D) Mane of the above

are faced with difficult situations

eI | (B} Pragtical lsaming and sxamples of
.'|L1 - 180, Theway loacquirs the necessary skills hew others handle situations you
., and compstencies may include will likaly tace

N -k A)  Self leaming programmes

g g (B} Academic courze (C) Dfscuss Issues and help develop
J: {C) Mentoring and eoaching or improve management systems
18 i fﬂ”m”;”;” (0) None of the above

b Fy 1 A . -.ﬂ-

~ ¢
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184. PBeaflaction SESEi0ns 187. Atestis said to b& wvalid wher it
(A) iz fair and free from teacher bias

Al Managers f within and outsi
) Rl HFERL gk {8} measures what it cfaims ta

your haalth centre with a common

interest in understanding and REES

imoroving their situaticn {C} E;g;ﬂucaa consistent results, over
(B} Managers and their teams set {0 has safeguards against cullural

aside a regular time 1o review their bias

work, identify arsas that nead . :
improvement, and ways to 188, Which of the following statements

: s saems o be supported by ressearch
owve th
bt b on the effects of grades on older

(C} Leaming cycles/groups-groups of students 7
team members who meet regularly {A} Sludents perform better under
io discuss issues and help passifail systerns than they do
develop or improve managemert undsr graded systems
systems (B} Students’ parformance is not

affected by the grading sy=tem

{C) Students perform better under
graded systems than they do
urder passifail systems

{) Al of the ahove

185. Peer leaming techniques include

..ﬁ NE:M::_!r!-: (D) Mone of the above

i) Leaming cycie

ili} Reflaction session 186, Parcantile rank means

W) Leaming course {A} the actual score received on a test

(AY i, i and jii (B) ii and iii (B} the _F-r;:ll;lijﬂl’tiﬂﬂ of studants who

: : I recaived passing scores
i) Skl (Hlikoie ()} the percentage corract on a test
186, Which of the following statements is {0} the -pmportiun al students who

true about assessment and recetived the same or lowar raw
y avaluation 7 SCore ;
(A} Ten to 30 percent of a teachers | 180. Which one of the following is NOT a
] i time la spent on assessment and major purpose lor testing within
M. evatuation Individual classrooms 7

(B} Standardized tests are used to (A} To diagnose students' prior

diagnose and evaluate student knowledga

: academic progress {8) To provide comective feedback to
b (C) Classroam teachsers  ars sludents .
: responsible for developing and [C} Tomake judgments about human
| administering standardized lests Hisilgance
- (D1 Tomake judgments about student

achisveameant

i (D) All of the above
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181, _ ,_Esgdwﬁuafur helping 185. A selected response question
taachers to specify huw much test redquires the studant to
$pace to denota to vanous topics. {A) Construct the correct answer
(A} Test print {B) Construct the correct answar from
(B) Tost blue print several possibilities
(C} Biue printer {C) Recognize the correct answar
(D} MNone of the abova {D} Explain the correct answer
182, Studentsin & fifth-grade clasarcom in 196, The first step of measurement is
Manhattan, Kansas, are askad o (4) Declsion of what to measure
collect various arifacts of their work ment
and pui the work In a notebook to {g] E:wgl?p : gHis g
demonsirate what they can do for their () miBtenng s fost
teacher and their parents. What s this (D} None
an exampie of 7 ; ;
() H T 197.  Which one of the following tool(s) iz
Essay used frequently in summative
(B} Authentic assessmeont avalualion 7
(&) Portfolio assessment (A) Teacher observation
(L) Perormance assesament {B) Test
192. Summative evaluation is defined as {g} i“i?nmt
{A) The process of evaluating a (0} Al of the above
program's effectivenass or the 188 K :
Wb O shirkeet pAfeT : E;?fﬁ;tllimmrdsﬂn method is used to
instruction
A
(B} The process of demonstration to {EJ E:‘:E]:: =) Fln!lah.ililtg.r
the studants, how to perform (©) i (0} Ojectivily
(G} The process of teaching in an | 186, Diversity : to give variety ; to make
sffecthve way divarsa, ¢ il
(0} Mone of the above : stats or quality of
oo bairg or fair ; faimess i ng.
194.  In gansral, criterion-referenced tasts {A}WE wality L
b are most approprate for which of the iy
! following putposs(s) ? (B} Equity
_ {A) Comparing student achlavement (€} Inclusiveness
i in ane school with those nationally (D} None of the above
| (B) Helping teachars to know whether
] their partlcular objectives have s designad fo Ehﬂuldb:aﬁmfully
Bl kst e pravent |I'tEl:[L.IIIt5|’.
(C} Halping to determine what {g}' r:aswement atratalgras
| students should do aftar high (B) Assessment slrategios
: eohaol (C) Opporunities
(D) Both B and & (D} Al of the above
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IMPORTANT INSTRUCTIONS TO CANDIDATES
e o Tore Teeryul ergaer
11. This booklal ¢ontafng 28 pages. 1

12. Plasse check all the pages of the Bookiat

carafully, In casa of any defact, ploase ask 12,
the Invigilater for raplacement of the Booklat.

YT d 48 ek |

T R et o o s it | R
=0 A B, T e wrat R
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" Stament s fotawed vy s shemetesy | 13. P 3 e e s vt e
suguested answars ar complations, In sack T ST ST o F r:;&% | S 2T
cRse, Yol are required to select the ane thai F ATTR! e} e v e R T e e
cerractly answers the queston or Lampletes = TR T -
he statament and blacken (@) appropriale E o E'EEFT Ll w w3l o
cirole A, 8, C or D by Blue / Black Ball-Paint T TR TH A, B, G D F e a
Fen against the gueskion concemsd in the HIET FA-Yee TR F (@) T |
Gorcaponcing oree will e weskoneq | (TTETA A % for i e
by 1he scribe) 4018 m.}

T4, Z-ﬂirlg z-ét;uﬂrl ;r?ﬂ::::h hgjﬂ*;ﬂ:ﬂ _}hhﬂ ﬁg‘:ﬂ;ﬁ?ﬂm 14. T 2 % AR 2 g e o

irg . The ou Rrmifi
ke shadad complataly withost ledving any space, o %ﬁ 'Wﬁﬁmﬁmﬁﬁ |
The comect method of shading is givan below, Ferifira =t w5 el 2t oA Py |
I'-.-.m; Mattea "-:-:wg Wkl | Wmng Maned § Comet Malned | 7= Atten | T ARG | TEa e | et e
Reooiteco|ceonlons O®oclogcolcenoloeno
The Candidate must mark his'her responsa sl &1 oA 3 o o A e %
alter careful conzideration. FUCT (e AT =R, |

15. Thers & only one corect answer to agoh 15, TH T & e UE o TR | e
guestion. You should blacken (@) the sirsls i
of the approprate eclumn, viz, 8. B, C ar D, E'Elaﬂ ki :"mﬁ A, B, C T D¥ Temn
Il you blacken @)} mole ™an one clicla HH HET () T | ol ey et we b
against any one quoation, the answer eill be L pieE S s T s =
treated as wrong. If you wish o cancel any bl A e ®)
answer, yau should completely prase that biack HTHT WA HAVARPT | 2R ol T
matk in the clrele in the Anawar-sheet, and T A ST # A1 3009 g T e
thitt blacken the circle of revised responaa. Eﬁffﬁﬁ'—ﬂﬂﬁ@?ﬂﬁ %ﬁmamﬁw

16. A maching will read the sodad information R TR @ =T
in the OMR Answer-Sheet, In cage the B mﬁjﬁ =
Infermaticn is Incompletesdiffarent from e 16 #.u", 3w, Fate § it T e T O
informatian given In the application form, e mref Ter Mﬁw Wﬂ?m TRy o 1
candidatere of such candidats will ba Iragtag bl P
as cancallgd, #mi Hﬁ'i‘ﬁﬁﬁﬁ. 1 s o arefifm

17. Uae tha space for fough work given In the T gl st |
gfl;r:‘:;i:m Booklet only and not ot the Answer 17. uﬁbﬁﬁaﬁﬁq A TR i B wE

: T 5 QT T e B T

15, You are NOT required to mark your anawers o hih ; |
In this Booklet, All answers must be 18, 39 QRMwT % st et T atfeer a9
indicated In the Answer-Shaat anly, ¥ | T e T-afre aE

Ga through instructions given in Page MNo. 1 (Facing Page)
A -48-
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